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Keats’ poetry

John Keats lived a very short life and it was only 5-6 years in which he produced “Keatsian” poetry. It’s very much the climax of romanticism. He had a great effect on Victorian poetry. He was a crucial figure in how Victorian poets related themselves to “Keatsian” inheritance.

Conflict is a key word in this poetry.

Keats even in his short, creative period had a certain shift how he tried to handle the most important conflict which he tried to resolve in his poetry.

(see handout no. 6)

This conflict could verbalized as

· fact – magic

· body – spirit

· melancholy – joy

· sensous beauty – spiritual beauty.

We can distinguish 3 phases in his poetry.

I. characterised by an intoxication of magic, joy, beauty.

This early period has a key text:  Endymion.

“A thing of beauty is a joy forever” (1st line).

This poetry has sensous richness, rhymes with fully developed images that create the richness.

Synaesthesia (szinesztézia) = several sense impressions felt simultaneously.

This phase is an escape to magic, joy, ignoring the opposing qualities.

II. La Belle Dame Sans Merci

A narrative poem. The knight at arms can be identified with the poet. The fairy lady – the muse = inspiration – takes him to her grot (barlang).

(grot is the metaphor of the womb /méh/  symbol of productivity, fertility. The knight’s horse  is the tool – the language, which he has. But he has no inspiration. The lady is his inspiration. By making the fairy on his horse, he gets creativity. The kisses 4  probably refers to the 4 muses of Zeus. SEE INTRO TO LIT / Kiss A).

the poet tries to possess the lady. But there’s an awakening to reality.

There’s the conflict of facts, cold reality and the magic of the lady’s grot. There’s the gradual awakening to conflict.

Negative capability (handout 6)

“A man is capable of being in uncertainties, mysteries, doubts…” acceptance of uncertainties without explanation  growing awareness of conflict is crucial here.

III. The Great Odes (1819, a year before his death).

They are called miniature dramas. He is able to achieve a balanced complexity with them.

Literary scholars argue for different dates of the odes, but there’s not much point in defining the exact date.

All the great odes  try to handle the same idea..

The poet is able to achieve the reconciliation of the ideal and the real.

· Beauty

Ideal: 

· magic

· beauty

· joy

· spiritual

Real:

· fact

· body

· melancholy

Ode to a Nightingale  balanced complexity!

Conflict can be recognised.

The situation the poet is listening to a bird.

(Keats’ bird the Nightingale = csalogány sings at sunset, while Shelley’s is singing at sunrise – Skylark = pacsirta).

The poet’s condition is contrasted to the bird’s. the poet is in pain, fever and his heart aches. He is very much aware of his painful bodily existence. But he can listen to the happy song of the bird.

1. Then moves according to the Nightingale itself.

At 1st, the bird is at the garden, than it’s flying into the forest and finally it disappears.

The poet’d like to fly away with the Nightingale, which can’t do in his mortal existence.

4th Stanza is the climatic moment of the poem. The poet imagines that he can fly away with the Nightingale.

“away, away…”

The  pet can fly on the viewless “
wings of poesy”.

(It’s like the short, ecstatic moment, when he thinks he can be one with the West Wind).


“Tender is the night”…..

Beautiful vision of the night.

Here, on earth, there’s no light. The poet is down, on earth, and he cannot see the beautiful flowers at his feet.

Idea: growing awareness of his coming death appears.

If he has to die, this would be an ideal moment of it.

But of course he can’t do that. He says good bye to the bird.

Last stanza:

“Everything is lost”  he can’t see / hear the bird any longer.

2 images are important!

SLEEP & ___

(He writes his invocation, in Endymion, to “magic sleep”). 

SLEEP – a kind of state of mind for Keats.

Especially that half awake, half sleep state of mind is important for him.

The power of imagination is said to be come from that union of sleep and awakening. He calls it SLEEP CONSCIOUSNESS, in which the power of creativity, imagination is not inhabited by reason and mortal existence.

So, Ode to a Nightingale is an other reoccurring image of night, moon, sleep, which are the source of inspiration.

He says “good bye”, “Adieu” to the nature and world as well.

The question in the poem: “Do I wake or sleep” = am I still alive, or already dead?

Here, there’s the awareness of reality and the description of that happy, ecstatic moment that with the “viewless wing of poesy” he could be one with the bird.

7th stanza: The Nightingale becomes an immortal bird.

(Shelley immediately says that “you are not a bird but a spirit).

(it is not true of course that the Nightingale is immortal).

The bird becomes immortal through the song. The song has been the same throughout generations.

“you was not born for death”.

The song is the same for “Emperor and clown”.

It’s important for Keats:

He may die, but his song is immortal, just as the bird’s song. His art is immortal, which might be a compensation. It is not explicitly said, but is very much there in the poem.

· The Nightingale is made immortal by the song.

· He identifies himself with the Nightingale  he might die, but his poetry is immortal.

· There is a kind of reconciliation between life and death.

Ode on a Grecian Urn

The similar chain of ideas can be seen in Ode on a Grecian Urn.

Life and art  immortality. The title is unusual.

Ode on a Grecian Urn (on is usually to).

The general rhetoric: the poet directly addresses the urn. “Oh You…”

(Note: pay attention to the contrasting qualities).

The figure of paradox is covered by Keats to arrive at the reconciliation of opposites.

(Paradox = 2 opposites idea are united in one statement).

The whole of the poem is built on series of paradoxes.

1st stanza: urn is described as a “foster child of silence”.

The urn is an object, silent, cold, not living. It’s the “bride of quitness.

On the urn, there’s a picture engraved: music, people / Gods. There’s motion in the picture, life, wild ecstasy.

The urn is passive but the picture tells a wild picture.

“Heard melodies are sweet, but those unheard are sweeter”.

Heard melodies: are time bound, mortal.

Unheard ones: are for the spirit, they are immortal. The unheard is forever!

There’s a couple, they are nearly kissing each other. Their love is forever, and the lady remains beautiful forever.

The trees will never be bare!

The eternal love and happiness and love are contrasted again. They live forever through art.

It is contrasted to the poet.

Eternal love, timelessness is contrasted with time.

Time > timelessness

Mortality > immortality

Death > eternal life

Pain > pleasure

 are contrasted. He contrast his mortality to the immortality of the urn.

4th stanza: what he could see on the urn.

Sacrifice, ritual are described.

The picture continues on the other side of the urn, which the poet can’t seen.

It is only in his imagination.

The paradox contrasts art and reality.

5th stanza: what he could imagine on the urn.

· climax of the paradoxes  that is an OXYMORON. (oxymoron = compressed figure of thoughts; opposing qualities are interlocked in a phrase).

Later he addresses the urn again.

Solent form, cold pastoral – the greatest paradox. It is living, music , love making, but it is cold, and preserved on the urn.

The urn speeks:

“Beauty is truth, truth is beauty, that is all you know on earth and all you need to know”.

Quotation from his letter:

“What the imagination seizes as beauty, must be truth”.

To Autumn

The description of the beauty of that season. We can’t find melancholy, conflicts, no pain! The most perfect moment of ripeness before decay begins.

· Climatic moment: perfect maturity.

Romanticism with Keats arrived to the moment of “ripeness to the core”. There is no further development.

Characteristic of Romanticism

René Wellek’s book

· he wrote his essay as a response to Lovejoy’s.

Lovejoy argued: there’s no “Romanticism” but Romanticisms. 

Wellek says that R.is heterogeneous. They were different all over Europe, but there are certain unifying ideas.

According to that it is possible to define 3 qualities.

1) IMAGINATION – should be creative

2) NATURE – organic

3) SYMBOL & MYTH – symbolic language

The most important quality is that Romanticism is “mythopoeic” = producing new myth.

M. Frye: Study of Romanticism

1st chapter 

· new myth is created by Romantic poetry

· general mythology was a Christian mythology (before R.)

Jerome  McGann (had a historicist approach).

Paul de Man: The Rhetoric of Romanticism

